



Nome: \_\_\_\_\_

Data: \_\_\_\_\_ Punteggio: \_\_\_\_\_

$$(3 + 2) \div 6 =$$

$$(2 + 5, 8) \times \frac{3}{5} =$$

$$\left(\frac{10}{3} - \frac{5}{3}\right) \div 5 =$$

$$\left(5 + \frac{1}{3}\right) \times \frac{2}{3} =$$

$$\left(\frac{287}{10} - \frac{49}{2}\right) \div 7 =$$

$$\left(\frac{6}{5} - \frac{1}{3}\right) \div 2 =$$

$$2(5, 6 + 3, 8) =$$

$$(5 + 4, 9) \times \frac{3}{4} =$$

$$2(4, 8 + 5, 5) =$$

$$\left(3 - \frac{1}{6}\right) \times \frac{1}{5} =$$



Nome: \_\_\_\_\_

Data: \_\_\_\_\_ Punteggio: \_\_\_\_\_

$$(3 + 2) \div 6 = \frac{5}{6}$$

$$(2 + 5, 8) \times \frac{3}{5} = \frac{117}{25}$$

$$\left(\frac{10}{3} - \frac{5}{3}\right) \div 5 = \frac{1}{3}$$

$$\left(5 + \frac{1}{3}\right) \times \frac{2}{3} = \frac{32}{9}$$

$$\left(\frac{287}{10} - \frac{49}{2}\right) \div 7 = \frac{3}{5}$$

$$\left(\frac{6}{5} - \frac{1}{3}\right) \div 2 = \frac{13}{30}$$

$$2(5, 6 + 3, 8) = \frac{94}{5}$$

$$(5 + 4, 9) \times \frac{3}{4} = \frac{297}{40}$$

$$2(4, 8 + 5, 5) = \frac{103}{5}$$

$$\left(3 - \frac{1}{6}\right) \times \frac{1}{5} = \frac{17}{30}$$